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1. Give an acceptable English name {the IUPAC or comumon name) for each
of the following compounds. { 10%}

{a) CHz=CH-CH>0H (b} CHa=C=CHa (¢} CH3-U=C—CH;y
fd} CHE.UHQ—;:':—CHE {e)] HOOC-CH,COOH

2, Prodict the major productas of the following reactions, including
sterebchemistry where appropriate. {209 )

(a) Br KOH, EtOH
heat )

CH,

HMnCr,,,, Ralt
(warm, cane}

(b

{2} EHg—?H-{!HD + NaBiH,
CHy

il D—GH + CrOgH,S0,

——
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CII;;@ + CHaUDEOT + AIC],
i) <:>=o + H;NOH/CH;COOH
C o oH _@_HH NaN(;
il 3 2 Bl

3. Show how you would synthesize the following compounds from the
indicated starting material and any other necegsary reagents.  {(15%)
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CHa—-‘FH—C HzCH; ~— CHaC=U-CHj;
Br

ey H-C=C-H CHS‘EH:EH:G Hz-ﬁ-{:Hs

4,  Arrange the following compounds (5%)
(2) in arder of increasing acidity.

@—UH, CHCHz0H, CHLCOOH

i

{b) in order of increasing basicity.

3. Previde oeceasary reagenta to completa sach of the following multistep
synthetic transformations. Show the atructure of synthetic intecmediate
for each synthetic step. {10%) : T
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6. Provide the molecular structures for products A - J. (209%)

NaBH, SO,
COOCH, A — . B
CH,OH

O

NalC M,
HCON{CH, )
1D LiAlH,
5 2] HaO'
EL\O/GC}{}DH
CH.{THaL1
P E . F
cther
EI’; KMI"I.Dd_
NadH-, 150 °C G !
I J G

7. Explain sach of the following terms and provide an example for each case,
{10%) ' B
{a} aromaticity
(b} Markovnikov's rule
tc) tauiomer
(d) conformation

8. Deduge 2 molecular atructars for the compound with the following specteal
data, List the structural characteristics which yon can determine from
that spectrum {10%)
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